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He responded to him properly — 7% BRp PR

OVERVIEW'
X297 told »ak that the craftsman % kP 9w, he responded effectively to the
customer. NMdOIN explains, which response X127 is referring to.
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The 1K responded properly so that he did not make this a situation of 7189; what
is the reason that he was 7°5w, because the Xnv"2 states fIN" —

nooIN asks:
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The X"2w" is astounded, for what did X217 mean to say when he said that the 128

was 7% Rp 1°ow; which statement of the 12X was X271 referring to -
= 37199137 PIAND YA NDT NI N 2IWUN RIT MNP P9V 919915 ’ya IN

If X271 meant to say that the 12X responded properly in order not to make it a

case of 189, by not agreeing to bring it out so it could be seen; if indeed this is

what X237 was referring to -
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So why was it necessary for X217 to comment on this statement of the 12X that he

is correct since R3IN $IRT; it is not necessary to use this proof and comment -
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It is obvious that the 12X was ‘smart’ in not willing to show the item, for if he
would bring it out and the 27V would recognize that it belongs to the
customer, that the 72X would be obligated to return it to the customer -
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Since the 72X denied having the item and he claimed 2'"77%, so he is completely
refuted by the o>7v!

!'See ‘Overview’ to the previous X1 7"7 '0.
2 Others maintain that this is X07° M50 in our X773 and this line X°In...897, is part of the heading of this mooin.
3 This is seemingly the understanding of the 9w 7"71 X72°X 7"72 0"2w"; that X271 is referring to the response of the
1R that 7% X301 82 X12°K'; ‘I’m not going to show it’. See ‘Thinking it over’.
4 The ®n12 (on 2,7n) of 7IX7 is in a case where the 72X claims ‘I bought it from you’, in which case if it was 787 (we
see the item in the possession of the 1X) he is not believed for apm 12 X 12X, we assume it was given to him to
repair the item; it was not sold to him.
5 Presumably this ruling would apply even to a non-jaw who claimed o"77%, and the item was found by him.
Therefore there is no need to refer to the Xn*12 of 7X7; it is self-understood that the 72X was ‘smart’ by refusing to
show the item.
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mooin offers his explanation:
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And the X"2w" prefers to explain it thus; X237 said that the craftsman "axp 9w,

referring to his original response where he claimed 2'"7:7% -
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So that through this claim of 0"777%, he did not allow this case to be considered
787,°% since the 2°7v did not fully recognize the item, so he could then claim, ‘it

was another garment; this is only because he initially claimed 2"775 -
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However if he would have claimed initially, ‘I bought it’, he would not be

believed -
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For he no longer has the 1% that he could have said, ‘I returned it to you’, or
he could have said 2", these 13°n are no longer an option for him, since he is

afraid to make any of these two 2n claims; the reason he is afraid, is -
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Since there are witnesses who saw a n°>w, in his possession similar to the

customer’s N7 -
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And now it is properly understood this which X217 said, ‘what is the reason why

TARP °OW, it 1S because NN IRT -
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The word X7 in the X072 means, even though it is not a perfect seeing of a

1Y Mwsaw, but rather it had signs similar to his garment; that is also considered 78 -
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For it seems to X217 that the ;71X9 in the Xn>"92 means that by any type of 1189 the
X is not believed to claim, ‘I bought it’.'"

® We cannot deal with him as an 1238 (where the rule of 7% applies), since he claims 0"77%, and he is believed like
anyone else, unless he is proved wrong.
7 A wn is effective when the claimant could have claimed the 13n with the same ease as he is claiming his actual
claim. Here however it is easier for him to claim mp% where the 0°7v cannot contradict him, than claiming either
*n71a or "7 where the 07y contradict him. This is not a valid .
8 1t is apparent from mpoIN (who states that he cannot claim 10717 since there are o°7v) that o™ are testifying that
they saw the item in the s"/"X possession, very recently (or currently) that it is impossible for him to claim vnamn
after they saw it. [The 0"2w" may not interpret the case in this manner.]
° The empbhasis is on the word %7, which means, ‘he saw it’, but not necessarily that we completely sure that it is
his; he ‘merely’ saw it.
19 He is not believed to claim mp, because he has no 13» of *n7mm;1 or 2"771%, since he is afraid to claim that since he
is concerned that the 0*7v are contradicting him.
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SUMMARY

The 7% mRp 0w is referring to his claim of 0"77%, for if he would have claimed
mp>, he would have no n, since he is concerned about the minimal 7°X7 of the
o>7v. The meaning of X°1n 71X is that a minimal X7 is sufficient.

THINKING IT OVER
What are the relative advantages of 2"aw "9,!! and x"awn "5?

1 See footnote # 3.
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